Mr. Brown ecams $630 and Mr. Green eamms S720. Express
Mr. Brown’s earnings as a ratio to Mr. Green's carnings in simplest form.

Answer: (2]

Nancy, Beverly and Todd shared $3600 in the ratio 2:3:4 respectively.

(a) Calculate the amount of money that Todd received.

Answer: 3 (3]

uaLIVEWORKSHEETS



Bob Dan Aaron
2 8 3 1

Three brothers Bob. Da

n and Aaron were given $264 1o share in the ratio
2:3: | respectively.

How much money did Dan receive?

Answer: $

131

There are 1200 students at Tropical High School. The ratio of boys to girls is
35

(a) How many girls are in the school?

1
Answer: 4]
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Angela Beth Cindy
2 3 4

™

Angela, Beth and Cindy shared $846 in the ratio 2:3:4 respectively. How
much money did Cindy reccive?

2:3
Bradley and Melissa share $2000 in the ratio 2 : 3
(a) How much money does Bradicy receive?
Answer: § 13]
(b) How much does Melissa receive?
Answer: § (2]
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